M8 - 2.1 - Equal Fraction Notes

Over = QOver

Do to Top/Do to Bottom

—= Do to Left/Do to Right
One over two equals what over 4? One over three equals what over 6?
x 2 : X2 x=1%x2=2
|
=y Setitup! p
17 1_2 Multiply bottom by 2 BB 1%
2724 > 2 4 Multiplytop by 2 3 6
) 7 ?20rx
1x2=2 ## Or . % 2 Does it matter
x 2 #:# Ratios No!
x 2 Direction Matters 1 x
) — =T 15 5=27 [ GetanLco!
1 2 Multiply inone _direction x 2 C =< D %2 2x1 «x
2714 Divide in other direction 2 4 X2 Zé@
(% Multiply left by 2 21x —
+2 Multiply right by 2 4 4

Five over twenty equals one over what?

5
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1 5 1
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I’'m not afraid to work on the bottom of the fraction!

+5

Divide top by 5
Divide bottom by 5

Ratios Too!

2 (E2) =

Same Rules!

.5 20+5=4

Three over five equals what over twelve?

X
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1.6 Cg ]2

plg 3x24=72
X =
- —_ l l Multiply bottom by 2.4
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—> 5~ 12 - Multiply top by 2.4
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<24 | 2oy
' - If you don’t know just divide!
Bigger divided by Smaller!
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Bottom goes into Top

Bottom | Top

24

OR!

Multiply left indown by 2
Divide rightinup by2

+1.6

20 (Repeat)

Calculator 1.6 = 1.666666 ...
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M8 - 2.2 - Similar Shapes Notes

Separate
Triangles

12 "
X
X
4
8
8 > ;
x15 4x15=6
m x 4
12~ 8
12:x
. Variable| *  _ f o 2 f -
R8-_4 on top! 12 8 12+-8=15 %
atios U
x 15 .@
BIGGER bi Algebra
Equal Fractions _ bigger

SMALLER  smaller

Gs=59
x -
x 3 375

smaller  SMALLER
bigger ~ BIGGER

wl o
Ll IR

G-

BIGGER _ SMALLER
bigger ~ smaller
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M8 - 2.7 - Ratios Marbles Notes

You have 3 Blue marbles and 2 Red marbles in a box, a total 5 marbles.

What is the ratio of blue to red marbles? What is the ratio of blue to red marbles?

3 Blue : 2 Red 2 Red : 3 Blue

b:r
312 @ Part to Part @

What is the ratio of blue marbles to total marbles?

3 Blue : 5 Total
Part to Total r:b:T
2:3:5

What is the ratio of red marbles to total marbles?

2 Red : 5 Total

G

If a larger box has 9 Blue marbles in the same ratio as above how many Red marbles and Total
marbles are in the box?

3 Blue: 2 Red 1
x 3 9 Blue + 6 Red = 15 Marbles
x 36 9:Blue:? Red D

There are 15
marbles in the
larger box

2x3=6

6 Red Marbles

If a larger box has 25 marbles in the same ratio as above how many Red marbles are in the box?
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